Sl. N regis	No. – site bills	3	85			- site bi	ills	(1)	8/23
	npany Name:				Regi Site:	ster			- 1 -
		MRP	UP		Site.			NG	Н
	ne of Contractor	B.B	asapp	a					
Nati	ure of work	Pai	oting	000	rk				
Wor	k done	From D	ate 0	10	62	.3 To	o Date	30 =	7 28
Sl. No.	Villa/Flat/block no	o. Qty		Rate	2	Units	Amou	int	Contractors bill no
1.	A-Block 6th	-10	971-	5.	50/-	spt	60	340/-	
2.	& 7th floor	- 3	540 -	5.	1,	sht	19,	470/-	
3.	Corridor					V			
4.	Painting							i	
5.	window KO	pen -5	02-	5.	50/-	sft	- 2	,761/-	
6.	Place Deduc	6				U		'	
7.	/ acc prove								
8.									
9.									
10.								i	
11.	T	otal:					77,	061/-	
Bill r	required	YES I	∃NO.		GST	bill requi	ired	VYES [□ NO.
Meas	surement &	Requir	ed			urement		Enclos	
estim	ate sheet:	□ Not re	quired			ate sheet	:	\sqcap Not en	closed
PO/W	VO no.		-		PO/W	O date:			
Rema	arks: Kindly a	deduct	the	2 PC) an	nount	87	Pwr	chase
Or	der no-	20230	6220	24.					
Appro	oved by Project Mar	nager	Appro	ved by	/ Desig	gn Team	App	roved by	M.D.
Date:	11/8/2	3	Date:	17			Date	:	
Sign:	J.		Sign:				Sign	1:	

Construction division. Advice for giving credit to contractors/suppliers.

Notes: 1. This advice must be sent within 7 days of completing work. 2. This form can be used for certifying labour bills, bills for hire charges, earth work, turnkey civil contractors. 3. Wherever not applicable – fill NA. 4. Estimate and measurement sheets are not required for turnkey jobs where guideline rates are clearly given.

Bill for Labour Charges

B Basappa Mallapur Hyderbad

Date.11.08.23

In favor of:	Nilgiri Heights
Project / Site:	Nilgiri Heights
Location:	Pocharam
Type of Work:	Paintwork
Towards:	Allowance for Labour charges

Ì

S No.	Description	Amount
1.	Brief description of work done: Towards completion of 2coats luppum work at 2 nd , 3 rd &4 th floor corridor work	Rs.30824/-
	Total Amount = 77062/-	
	Work done from date: 10.06.2023 to date: 30.07.2023	

Amount in words: thirty thousand eight hundred and twenty four rupees only.

Sign: _____

Bill for Equipment Charges

B Basappa Mallapur Hyderbad

Date.11.08.23

In favor of:	Nilgiri Heights
Project / Site:	Nilgiri Heights
Location:	Pocharam
Type of Work:	Paintwork
Towards:	Allowance for Equipment charges

1

S No.	Description	Amount
1.	Brief description of work done: Towards completion of 2coats luppum work at 2 nd , 3 rd &4 th floor corridor work	Rs.30824/-
	Total Amount = 77062/-	
	Work done from date: 10.06.2023 to date: 30.07.2023	

Amount in words: thirty thousand eight hundred and twenty four rupees only.

Sign: _____

Bill for Consumable Charges

B Basappa Mallapur Hyderbad

Date.11.08.23

In favor of:	Nilgiri Heights
Project / Site:	Nilgiri Heights
Location:	Pocharam
Type of Work:	Paintwork
Towards:	Allowance for Consumable charges

S No.	Description	Amount
1.	Brief description of work done: Towards completion of 2coats luppum work at 2 nd , 3 rd &4 th floor corridor work	Rs.15412/-
	Total Amount = 77062/-	
	Work done from date: 10.06.2023 to date: 30.07.2023	

Amount in words: Fifteen thousand four hundred and twelve rupees only.

Sign: _____

Z	MEASUREMENT SHEET					•	•		
	Company Name: N	MRPLLP			Approv	Approved by: Vijay raj	'ijay raj		
		NGH							
	ption:	Painting work							
		B.Basappa							
		Anil.M							
		11.08.2023							
S No.	Item Head	Item Description	Length	Width	Height	No's	Quantity	Units	Item Head Tota
-	Block-A 6th and 7th floor corridor painting	Block A 6th and 7th floor walls corrdior painting 2 coats luppum work	276.0	1.0	9.3	2.0	5,133.6	Sft	
	,		198.0	1.0	9.3	2.0	3,682.8	Sft	
			40.0	1.0	9.3	2.0	744.0	Sft	
			38.0	1.0	9.3	2.0	706.8	Sft	
			38.0	1.0	9.3	2.0	706.8	Sft	
		Block A 6th and 7th floor ceiling corrdior painting 2 coats luppum work	138.0	6.0	1.0	2.0	1,656.0	Sft	
			99.0	6.0	1.0	2.0	1,188.0	Sft	
			20.0	6.0	1.0	2.0	240.0	Sft	
			19.0	6.0	1.0	2.0	228.0	Sft	
			19.0	6.0	1.0	2.0	228.0	Sft	
2	Deductions of windows and open place	Deductions of windows and open place	4.00	8.00	1.00	12.00	384.0	Sft	
			6.6	9.0	1.0	2.0	118.8	Sft	

ESTIN	ESTIMATE SHEET						
Compa	Company Name:	MRPLLP		Approved	Approved by: Vijay raj	aj	
Project:		HDN					
Work L	Work Description:	Painting work					
Contractor:	ctor:	B.Basappa					
Prepared By:	d By:	Anil.M					
Date:		11.08.2023					
S No.	Item Head	Item Description	Quantity	Units	Rate	Amount	Item Head Tota
1	Block-A 6th and 7th floor corridor painting	Block A 6th and 7th floor walls corrdior painting 2 coats luppum work	5133.6	Sft	5.50	28,234.80	
			3682.8	Sft	5.50	20.255.40	
			744.0	Sft	5.50	4 092 00	
			706.8	Sft	5.50	3.887.40	
			706.8	Sft	5.50	3,887.40	
		Block A 6th and 7th floor ceiling corrdior painting 2 coats luppum work	1656.0	Sft	5.50	9,108.00	
			1188.0	Sft	5.50	6 534 00	
			240.0	Sft	5.50	1.320.00	
			228.0	Sft	5.50	1.254.00	
			228.0	Sft	5.50	1,254.00	
2	Deductions of windows						79.827.00
	and open place	Deductions of windows and open place	384.0	Sft	5.50	2,112.00	
			118.8	Sft	5.50	653.40	
						-	
						Otal amount.	